. Consider the matrix A with reduced row eschelon form R where

P e ¢ 9 ¢ P e 9o r
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A=1-2 4 3 2 5 and R=10.0 1 0 5 |.
2 4 1 1 4 0 \0 okl 9|
% I
21w s
1
Find. GIA  cnd Aol P
A N Crg —0 _”ITW
HbM‘)L’M CO'QA 152 ~a.l 3 %j,{
-2 ) 1 \
L ©C J
N e so’(,zw\i ﬁsx:o Vs R vame o Rz =0.
__ﬁ\ PV qu’;- .w*"(-’]—_\"’
1 -2 0 0 —4]  ¥=30 =A==

S xS Ag =0

Ay —Jgxg=0

Soloe fon POt VoLallon, Necw
f-Hr Free vasfaklug

%, Lo, +At 2] (4
-5xp ~

"6: \ 9xg ) \ J

| 2Ly ) 2w 0| |

n . D d
5 / ‘F'aﬂ 4 -.‘-7
Buws kot Nk ¢ ) ) 7 | o T

o) ') ~ %

J) o\ 4 \ -

Lrel Ly o/




3. |Answer the following true false questions: Nonvitun T] ¥ W RN *
] (i) If A is invertible then det-(A_l)(det A)=1. 'b) . Mt(( A-lX =
() A Whoy debpr dut B = duk(AB) u ;) j

True A Tros o

~\ h~ 0N 1=
- (B) False 0 So dak(K™) dut Koot My =dutT=| B Tse S

(ii) If A is invertible, then 0 is not an eigenvalue of A.
d (A) True '\})}\‘a ¢ 0 3¢ o ”’WW %\‘43_ .
(B) False 0 Huwe Nub (A-0D) ¥ wortvivwl 70 Sk k=0 52 A S
(iii) If A € R™ " is triangular, then det A is the product of the diagonal entries of A. % N b,
o (A) True
o (B) False

— (iv) The matrices A and B! AB have the same sets of eigenvalues for every invertible
matrix B.

(A) True
(B) False

4. Let X be an eigenvalue of an invertible matrix A. Show A~! is an eigenvalue of A~!.
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(iv) The matrices A and B~! AB have the same sets of eigenvalues for every invertible
matrix B. —
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4. Let X be an eigenvalue of an invertible matrix A. Show A~! is an eigenvalue of A~!.
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